High Torque Timing Belts - 2GT, 3GT

lFeatures: Circular Tooth Profile Timing Belts with little backlash, suitable for positioning.
W2GT is applicable to High Torque Timing Pulleys 2GT on &~ P1381, while 3GT is applicable to High Torque Timing Pulleys 3GT on B P1383.

- M Type: 3GT (Pitch: 3mm)
GBN Type [MMaterial Part Number Nombor] B Unit Price Part Number Nomber] B Unit Price
Back Rubber chi Rubb Type Belt Belt Nominal | e S | Cirounference Belt Nominal Width Type Belt Beit Nominal | ooy | Cicumference Belt Nominal Width
b Tooth Rubber oroprene Rubber oL Numbe: Width Lengh ) 60 90 150 i Number | Width Lenghfom) [ 60 90 150
Pitch 7 GBN : - 0 34 02 486 3GT 162 486
3)Core Wire i Glass Fiber Cord 0 35 05 289 3G 63 289
JTooth Fabric Nylon Cloth 0: 36 08 495 3G |__165 495
37 11 67 501
Type |Pitch| R1 | R2 | Rs | b H h i | PLD |UnitMass g/m (Width: 10mm) 4 38 14 | 168 504
o 2GT | 2 |0.15]1.00 0555/ 0.401.38]0.75] 0.63 | 0.254 13.0 17 70 510
= 3GT | 3 [0.25]1.52 085061240 1.14]1.26] 0.381 250 a 2 n1
@ ) ¢ Opera_ting Temp.: »10~80°C_ (Reference Value) ) [126 3GT | 2% 75 525
(®Belt Circumference Length is the length of Core Wire. [ 1293 29 77 531
(9Features and Cautions B P1375 [ 1823 32 |__179 537 |
(®Selection Method BE™ P2253 7% 3g [ g? gi
[1413GT | 1 183 54
W Type: 2GT (Pitch: 2mm) 44 ] 4 e o
Part Number Numb: Belt Unit Price Part Numbel NOT Belt Unit Price 0 50 50 187 | 56
Fr— Belt [Belt Nominal | (o8 |G Belt Nominal Width F— Beft Nominal [ T 28" | Gicumrence Belt Nominal Width 56 5 55 88 T 64 |
yp Number Width Length (mm 40 60 90 yp Width Length mm) 40 60 90 159 3GT | 53 59 490 | 570 |
66 2GT 33 66 146 292 62 54 62 192 57
2 36 72 147 294 e oA |1
4 2G 37 7 150 300 { 168 3GT | 56 58 | 193 579}
G - = o 58 74 194 582
= 52 T 504 59 77 |19 588
0 2G 4 80 154 | 308 ol &y [ A
82 2GT_| 4 82 155 310 62 86 | 199 | 507
4 2G 4 84 57 314 63 89 200 600
6 2G 3 86 | 159 318 64 92 201 603
[882GT | 44 88 160 320 65 95 203 0
0 2G 4 90 61 322 66 98 204 1
92 2GT | 46 92 | 162 324 67 01 206 1
942G 47 94 163 326 68 204 208 62
96 2G 48 96 64 328 69 207 | | 211 633 |
98 2G 49 98 |66 332 70 21 3 639
00 50 0 | 168 | 336 7 21 4 642
o: 51 0 169 3 7 21 7 651
g E 22 g ; 40 7 222 g 654
7 225 202 666
® L 46 7 228 24 | 612
Yo = 2 = 7 231 205 67"
c =5 7 352 78 234 227 681 |
e = 7 384 79 23 229 68
60 20 7 358 80 230 690
>GT_| 61 22 180 360 81 231 693
G 62 24 83 366 82 233 699
GT_| 63 26 85 370 83 | 249 | 234 702
GT_| 64 28 186 372 84 252 235 705
65 30 |_1e8 376 85 255 236 708
T 66 32 90 380 86 258 0 40 720
G 67 34 191 382 60 88 264 (6mm) 43 729
68 gg 193 ggg (6mm) 89 267 47 741
69 197 90 270 43 744
70 | 200 | 400 | GBN % 91 273 GBN (gf’n"m) 250 | 750
C ; %% (Rubber) (omm) 92 276 (Rubber) 252 756
| 206 1 412 ] 94 282 255 765
C 420 s 150
150 95 285 258 774
28 a2 (15mm) 9% 288 (15mm) 261 783
8 5 26 97 291 263 | 789
99 297 270 10
G 77 54 220 44
G 78 56 222 444 300 274 22
Te 79 58 223 446 0 303 280 40
GT_| 80 60 204 24 0 309 284 852
2G1 40 81 62 40 226 452 0 31 286 858
G (4mm) 82 64 (4mm)  [T"230 460 | 0! 31 290 870
G 83 66 35 47 0f 31 294 882
GBN [ 16826GT | 60 84 68 GBN 60 | 239 478 324 3G 0! 324 | 300 90
70 85 7 (Rubber) (6mm) 2 484 327 3G 32 304 91
(Rubber) 72 2G (6mm) 86 7: 3 486 30 3G 330 308 924 |
4 2G % 87 7 90 4 488 33 3G 333 309 92
C 88 7! (9mm) 6 492 36 336 312 936
(Omm) 89 7 7 494 39 339 316 918
0 90 8 250 500 [ 339 3GT |
82 2GT | 91 82 251 502 42 320 960
ezt 45 321 963
84 2G 92 84 252 504
348 3GT_| 322 966
86 2G 93 86 253 506
88 o4 88 258 516 351 3G d ot g2
190 2GT | %5 50 260 224 354 3G 35 327 981
o2 5GT 5 57 568 530 357 3G: 357 331 993
942G 97 94 272 544 363 3G 363 | 996 3GT | 332 996 |
96 o8 % 275 550 366 | 122 | 366 | 1005 3GT 335 005
00 100 200 | 279 558 369 3GT_| 123 [ 369 | 1008 3GT 336 008
02 01 202 | 285 570 375 125 375 1014 3GT 338 014
04 2G 02 204_| 286 572 378 3GT | | 126 378 1050 3GT | 350 | 1050
08 2G 04 2 289 578 3813G 27 381 10593 353 | 1059
1 105 293 586 384 3G 128 384 1068 3GT | 356 | 1068
12 106 299 508 387 3G 129 387 10713G 357 071
214 [ 107 300 600 393 3G 393 1086 3G 362 | 1086
216 2G 08 | 216 | | 303 | 606 | 396 3GT | 396 1098 3GT | 366 | 1098
220 2GT | 220 | 308 | 616 | 399 3G 399 1113 3G 371 13
224 224 315 630 402 3G 1 402 1137 3G 379 37
ose 2 i oo 405 3G 135 405 1170 390 70
53050 = L 408 3GT | 136 408 1188 3GT | 396 83
33550 5 = s 414 3GT 138 414 1212 3GT 404 12
536 26T | 536 38 76 417 3G 139 417 1215 405 15
240 20 345 T 690 420 3GT_| 420 1260 3GT | 420 | 1260
242 2G | 121 48 696 423 3G 423 1290 3G | 430 [ 1290 |
244 2G 22 351 702 4§g %, 452 1§39 ,E,, 7‘% %
248 2G 24 363 726 432 3GT | 1305 |4
250 2GT_| 25 250 371 742 444 3G 44 1326 3GT | 442 26
252 2GT_| | 126 252 376 752 447 3G 147 1335 3GT | 445 35
254 2GT_| 27 254 380 760 453 3GT 151 453 1374 3GT 458 74
256 2GT_| [ 28 256 386 772 456 3GT [ 152 456 1386 3GT | 462 | 1386
258 2G 129 258 391 782 459 3GT | 153 459 1422 3GT | 474 422
260 130 260 400 800 462 3GT_| 54 462 1446 3GT | 482 | 1446
264 2GT | 132 | 264 | 405 | 810 | 471 3GT | | 157 471 1521 3GT 507 521
220t T - = La=
270 35 270 433 866
278 2GT_| | 139 278 446 892
280 4 280 450 900 Example
282 2GT | 4 282 465 930
284 2G 4 284 475 950
286 4 286 288 976 GBN 2002GT - 60
1459 288 2GT 4 288 497 994 1460
= 290 2GT 4 290 =




